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Math 265B: Test 2

(100 points)

Credit for each problem is based on the amount of correct work shown, not just the final answer Simplify all answers as much
as possible but for full credit, leave answers in exact terms. Only scientific calculators may be used on this exam.

Name:

Formulas:  sin’ ¢ =%(1—COS 2¢) cos’ ¢ =%(l+0052¢) e o
J /""::L & q‘Z
sin2a =2sinacosa  cos2a =cos’ @ —sin’ & =§1 - ()S_) 2
e ax\ cx ) S
1. (10 pts) Integrate. Suggested method: Integration by Parts.
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2. (10 pts) Integrate. Suggested Method: Pythagorean Trig Identity.
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3. (18 pts) Integrate: Suggested method: Trig Substitution
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4. (16 pts) Integrate. Suggested method: Partial Fraction Decomposition and/or Long Division.
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5. (15 pts) Use the method of your choice to integrate: == -
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6. (12 pts) Use calculus to find the force that the water in a reservoir exerts on a trapezoidal dam with the following
dimensions: height is 100 meters, base is 200 meters, and length of the top edge is 300 meters, which is the
top of the dam. Assume the dam is full.

Express your answer in terms of p and g
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7. (18 points) Evaluate each of the following improper integrals or state that it diverges.
You must use the proper notation for full credit.
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Extra credit (5 points)

Integrate, using any method. Use the back of this page for your work.
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